BAgs AT BT TFAAQEARN) Tr23%F 1A 1B{RHE

= a3 A H miE AOFE
SRETT 8 L g | E: | Z (ha) (AN ha)
. 26,141 60,921 31,215 29,706 622.0 97.9
IRTHEI1TH 337 737 367 370 10.5 70.2
IR THET2TH 922 2,059 1,053 1,006 12.6 163.4
IR TFHEISTH 1,034 2,309 1,175 1,134 17.0 135.8
IR TET4TH 564 1,060 525 535 10.4 101.9
¥ET1TH 759 1,658 844 814 145 114.3
¥ET2T B 408 1,015 511 504 9.7 104.6
¥ET3TH 942 2,206 1,070 1,136 13.1 168.4
¥ET4AT B 507 1,062 535 527 6.8 156.2
¥ETST B 501 1,089 572 517 10.3 105.7
¥ET6 T B 560 1,320 657 663 12.6 104.8
KFE 4,162 10,037 5,167 4,870 118.3 84.8
XFt 2,091 4,946 2,542 2,404 48.7 101.6
B AARET1TH 683 1,646 817 829 10.7 153.8
B AARET2TH 527 1,234 638 596 9.1 135.6
1By BARBET3TH 965 2,299 1,152 1,147 175 131.4
B AARETATH 726 1,885 973 912 15.6 120.8
R=FHIH 106 217 121 96 1.1 197.3
B BET1TH 203 460 245 215 438 95.8
B B#ET2TH 621 1,397 737 660 7.9 176.8
Mes81TH 830 1,900 1,010 890 25.2 75.4
Hes82TH 826 1,982 1,016 966 23.6 84.0
MEes83TH 932 2,194 1,131 1,063 23.9 91.8
EEsyB4TH 747 1,593 819 774 17.0 93.7
BEEsA5TH 1,032 2,204 1,141 1,063 22.6 97.5
EEsyA6TH 989 2,496 1,292 1,204 19.1 130.7
EEsyB7THE 1,359 3,316 1,737 1,579 37.2 89.1
EEsA8TH 325 644 297 347 4.7 137.0
J\IBKRK1TH 277 747 372 375 125 59.8
J\IBRK2TH 458 1,186 588 598 19.7 60.2
J\IEK3TH 424 997 517 480 24.2 41.2
=YH1TH 468 1,116 586 530 13.9 80.3
=YHI2TH 573 1,261 665 596 15.0 84.1
=YFI3TH 283 649 343 306 10.2 63.6




BAgs AT BT TFAAQEARN) Tr23% 2A 1BRHE

= a3 A H miE AOFE
SRETT 8 L g | E: | Z (ha) (AN ha)
B K 26,154 60,898 31,213 29,685 622.0 97.9
IRTHEI1TH 342 742 369 373 105 70.7
IR THET2TH 916 2,054 1,050 1,004 12.6 163.0
IR TFHEISTH 1,029 2,300 1,170 1,130 17.0 135.3
IR TET4TH 565 1,059 525 534 10.4 101.8
¥ET1TH 758 1,656 842 814 145 114.2
¥ET2T B 411 1,015 512 503 9.7 104.6
¥ET3TH 944 2,207 1,073 1,134 13.1 168.5
¥ET4AT B 508 1,061 536 525 6.8 156.0
¥ETST B 496 1,079 567 512 10.3 104.8
¥ET6 T B 558 1,311 653 658 12.6 104.0
KFE 4,168 10,045 5171 4,874 118.3 84.9
XFt 2,095 4,944 2,544 2,400 48.7 101.5
B AARET1TH 688 1,653 820 833 10.7 154.5
B AARET2TH 525 1,228 635 593 9.1 134.9
1By BARBET3TH 965 2,297 1,151 1,146 175 131.3
B AARETATH 728 1,884 972 912 15.6 120.8
R=FHIH 106 217 122 95 1.1 197.3
B BET1TH 202 463 245 218 438 96.5
B B#ET2TH 619 1,391 733 658 7.9 176.1
Mes81TH 832 1,906 1,010 896 25.2 75.6
Hes82TH 827 1,982 1,018 964 23.6 84.0
MEes83TH 930 2,191 1,126 1,065 23.9 91.7
EEsyB4TH 753 1,599 826 773 17.0 94.1
BEEsA5TH 1,038 2,212 1,147 1,065 22.6 97.9
EEsyA6TH 987 2,488 1,285 1,203 19.1 130.3
EEsyB7THE 1,358 3,316 1,740 1,576 37.2 89.1
EEsA8TH 324 642 296 346 4.7 136.6
J\IBKRK1TH 276 746 371 375 125 59.7
J\IBRK2TH 458 1,186 588 598 19.7 60.2
J\IEK3TH 423 997 517 480 24.2 41.2
=YH1TH 470 1,120 589 531 13.9 80.6
=YHI2TH 575 1,265 671 594 15.0 84.3
=YFI3TH 280 642 339 303 10.2 62.9




BAgs AT BT TFAAQEARN) Tr23% 3A 1AHRHE

= a3 A H miE AOFE
SRETT 8 L g | E: | Z (ha) (AN ha)
B K 26,119 60,787 31,120 29667 622.0 97.7
IRTHEI1TH 339 738 367 371 105 70.3
IR THET2TH 913 2,046 1,046 1,000 12.6 162.4
IR TFHEISTH 1,017 2,283 1,160 1,123 17.0 134.3
IR TET4TH 564 1,058 523 535 10.4 101.7
¥ET1TH 755 1,646 834 812 145 1135
¥ET2T B 410 1,015 507 508 9.7 104.6
¥ET3TH 940 2,192 1,066 1,126 13.1 167.3
¥ET4AT B 507 1,062 534 528 6.8 156.2
¥ETST B 496 1,079 567 512 10.3 104.8
¥ET6 T B 559 1,312 655 657 12.6 104.1
KFE 4177 10,041 5,169 4,872 118.3 84.9
XFt 2,097 4,943 2,539 2,404 48.7 101.5
B AARET1TH 689 1,651 817 834 10.7 154.3
B AARET2TH 522 1,224 632 592 9.1 1345
1By BARBET3TH 963 2,297 1,147 1,150 175 131.3
B AARETATH 723 1,874 966 908 15.6 120.1
R=FHIH 107 216 120 96 1.1 196.4
B BET1TH 202 468 245 223 438 97.5
B B#ET2TH 615 1,388 732 656 7.9 175.7
Mes81TH 825 1,887 1,001 886 25.2 74.9
Hes82TH 823 1,978 1,018 960 23.6 83.8
MEes83TH 935 2,196 1,126 1,070 23.9 91.9
EEsyB4TH 754 1,597 823 774 17.0 93.9
BEEsA5TH 1,029 2,203 1,136 1,067 22.6 97.5
EEsyA6TH 988 2,491 1,286 1,205 19.1 130.4
EEsyB7THE 1,353 3,304 1,732 1,572 37.2 88.8
EEsA8TH 324 643 296 347 4.7 136.8
J\IBR1TH 278 744 369 375 125 59.5
J\IBRK2TH 462 1,191 592 599 19.7 60.5
J\IEK3TH 426 996 517 479 24.2 41.2
=YH1TH 471 1,124 592 532 13.9 80.9
=YHI2TH 576 1,262 670 592 15.0 84.1
=YFI3TH 280 638 336 302 10.2 62.5




BAgs AT BT TFAAQEARN) Tr23% 4A 1B{RHE

= it A H miE AOFE
SRETT 8 L g | E: | Z (ha) (AN ha)
B K 26,194 60,828 31,129 29699 622.0 97.8
IRTHEI1TH 349 758 377 381 10.5 72.2
IR THET2TH 910 2,036 1,037 999 12.6 161.6
IR TFHEISTH 1,019 2,282 1,159 1,123 17.0 134.2
IR TET4TH 562 1,057 524 533 10.4 101.6
¥ET1TH 757 1,647 835 812 145 113.6
¥ET2T B 413 1,024 512 512 9.7 105.6
¥ET3TH 938 2,178 1,055 1,123 13.1 166.3
¥ET4AT B 510 1,065 537 528 6.8 156.6
¥ETST B 502 1,088 574 514 10.3 105.6
¥ET6 T B 564 1,316 654 662 12.6 104.4
KFE 4,198 10,063 5,180 4,883 118.3 85.1
XFt 2,099 4,956 2,550 2,406 48.7 101.8
B AARET1TH 687 1,640 807 833 10.7 153.3
B AARET2TH 522 1,221 628 593 9.1 134.2
1By BARBET3TH 969 2,297 1,149 1,148 175 131.3
B AARETATH 721 1,854 956 898 15.6 118.8
R=FHIH 107 217 120 97 1.1 197.3
B BET1TH 203 468 246 222 438 97.5
B B#ET2TH 617 1,385 730 655 7.9 175.3
Mes81TH 824 1,885 1,005 880 25.2 74.8
Hes82TH 831 2,000 1,023 977 23.6 84.7
MEes83TH 944 2,220 1,140 1,080 23.9 92.9
EEsyB4TH 747 1,582 813 769 17.0 93.1
BEEsA5TH 1,030 2,199 1,135 1,064 22.6 97.3
EEsyA6TH 995 2,498 1,293 1,205 19.1 130.8
EEsyB7THE 1,354 3,303 1,727 1,576 37.2 88.8
EEsA8TH 325 640 294 346 4.7 136.2
J\IBR1TH 276 740 366 374 125 59.2
J\IBRK2TH 461 1,179 585 594 19.7 59.8
J\IEK3TH 429 1,001 520 481 24.2 41.4



BAgs AT BT TFAAQEARN) Tr23%F 5A 1AHRHE

= it A H miE AOFE
SRETT 8 L g | E: | Z (ha) (AN ha)
B K 26,279 60,907 31,154 29,753 622.0 97.9
IRTHEI1TH 354 771 384 387 10.5 73.4
IR THET2TH 905 2,015 1,025 990 12.6 159.9
IR TFHEISTH 1,020 2,280 1,158 1,122 17.0 134.1
IR TET4TH 563 1,061 524 537 10.4 102.0
¥ET1TH 756 1,646 834 812 145 1135
¥ET2TH 413 1,025 515 510 9.7 105.7
¥ET3TH 931 2,172 1,055 1,117 13.1 165.8
¥ET4AT B 509 1,066 533 533 6.8 156.8
¥ETST B 501 1,084 572 512 10.3 105.2
¥ET6 T B 567 1,314 656 658 12.6 104.3
KFE 4,230 10,109 5,191 4918 118.3 85.5
XFt 2,105 4,956 2,552 2,404 48.7 101.8
B AARET1TH 686 1,635 804 831 10.7 152.8
B AARET2TH 519 1,215 621 594 9.1 133.5
1By BARBET3TH 969 2,296 1,150 1,146 175 131.2
B AARETATH 725 1,857 958 899 15.6 119.0
R=FHIH 107 218 120 98 1.1 198.2
B BET1TH 205 47 248 223 438 98.1
B B#ET2TH 616 1,380 723 657 7.9 174.7
Mes81TH 825 1,878 999 879 25.2 745
Hes82TH 851 2,047 1,046 1,001 23.6 86.7
MEes83TH 947 2,217 1,140 1,077 23.9 92.8
EEsyB4TH 742 1,576 815 761 17.0 92.7
BEEsA5TH 1,028 2,196 1,131 1,065 22.6 97.2
EEsyA6TH 1,009 2,511 1,305 1,206 19.1 1315
EEsyB7THE 1,360 3,306 1,731 1,575 37.2 88.9
EEsA8TH 326 640 293 347 4.7 136.2
J\IBKRK1TH 277 739 366 373 125 59.1
J\IBRK2TH 464 1,188 587 601 19.7 60.3
J\IEK3TH 434 1,007 521 486 24.2 41.6



BAgs AT BT TFAAQEARN) Tri23%F 6 A 1AHRHE

= it A H miE AOFE
SEXETT 74 L g | E: | Z (ha) (AN ha)
B K 26,335 60,958 31,178 29,780 622.0 98.0
IRTHEI1TH 352 768 382 386 105 731
IR THET2TH 907 2,017 1,031 986 12.6 160.1
IR TFHEISTH 1,023 2,281 1,158 1,123 17.0 134.2
IR TET4TH 564 1,059 522 537 10.4 101.8
¥ET1TH 757 1,650 835 815 145 113.8
¥ET2T B 413 1,024 515 509 9.7 105.6
¥ET3TH 932 2,168 1,051 1,117 13.1 165.5
¥ET4AT B 508 1,068 533 535 6.8 157.1
¥ETST B 504 1,088 575 513 10.3 105.6
¥ET6 T B 567 1,317 658 659 12.6 104.5
KFE 4,239 10,125 5,201 4,924 118.3 85.6
XFt 2,111 4,955 2,552 2,403 48.7 101.7
B AARET1TH 687 1,631 801 830 10.7 152.4
B AARET2TH 519 1,219 624 595 9.1 134.0
1By BARBET3TH 974 2,302 1,153 1,149 175 1315
B AARETATH 725 1,859 957 902 15.6 119.2
R=FHIH 106 215 119 96 1.1 195.5
B BET1TH 205 472 247 225 438 98.3
B B#ET2TH 615 1,373 721 652 7.9 173.8
Mes81TH 828 1,883 1,002 881 25.2 74.7
Hes82TH 857 2,059 1,053 1,006 23.6 87.2
MEes83TH 950 2,225 1,142 1,083 23.9 93.1
EEsyB4TH 746 1,577 809 768 17.0 92.8
BEEsA5TH 1,031 2,199 1,137 1,062 22.6 97.3
EEsyA6TH 1,015 2,510 1,306 1,204 19.1 131.4
EEsyB7THE 1,362 3,314 1,737 1,577 37.2 89.1
EEsA8TH 326 639 294 345 4.7 136.0
J\IBKRK1TH 277 739 366 373 125 59.1
J\IBRK2TH 466 1,190 586 604 19.7 60.4
J\IEK3TH 436 1,008 521 487 24.2 41.7
=YH1TH 480 1,147 599 548 13.9 82.5



BAgs AT BT TFAAQEARN) Fp23%F 7R 1BR#AE

= it A H miE AOFE
SRETT 8 L g | E: | Z (ha) (AN ha)
B K 26,328 60,902 31,151 29751 622.0 97.9
IRTHEI1TH 347 759 380 379 10.5 72.3
IR THET2TH 907 2,009 1,029 980 12.6 159.4
IR TFHEISTH 1,020 2,278 1,155 1,123 17.0 134.0
IR TET4TH 562 1,058 521 537 10.4 101.7
¥ET1TH 756 1,644 833 811 145 113.4
¥ET2T B 413 1,017 512 505 9.7 104.8
¥ET3TH 930 2,165 1,051 1,114 13.1 165.3
¥ET4AT B 512 1,073 536 537 6.8 157.8
¥ETST B 503 1,087 575 512 10.3 105.5
¥ET6 T B 566 1,315 657 658 12.6 104.4
KFE 4,243 10,136 5,204 4,932 118.3 85.7
KFit 2,115 4,952 2,547 2,405 48.7 101.7
B AARET1TH 685 1,625 798 827 10.7 151.9
B AARET2TH 518 1,215 622 593 9.1 133.5
1By BARBET3TH 972 2,300 1,153 1,147 175 131.4
B AARETATH 727 1,851 951 900 15.6 118.7
R=FHIH 105 212 116 96 1.1 192.7
B BET1TH 209 477 250 227 438 99.4
B B#ET2TH 618 1,374 723 651 7.9 173.9
Mes81TH 831 1,891 1,005 886 25.2 75.0
Hes82TH 854 2,049 1,048 1,001 23.6 86.8
MEes83TH 949 2,225 1,144 1,081 23.9 93.1
EEsyB4TH 746 1,575 807 768 17.0 92.6
BEEsA5TH 1,031 2,201 1,138 1,063 22.6 97.4
EEsyA6TH 1,018 2,515 1,309 1,206 19.1 131.7
EEsyB7THE 1,354 3,306 1,731 1,575 37.2 88.9
EEsA8TH 326 640 295 345 4.7 136.2
J\IBKRK1TH 275 734 365 369 125 58.7
J\IBRK2TH 467 1,190 585 605 19.7 60.4
J\IEK3TH 435 1,006 519 487 24.2 41.6
=YH1TH 478 1,143 596 547 13.9 82.2




BAgs AT BTTFAAQEARN) Fp23% 8 1H{R#A

- - A =] miE AOZEE
BREETTEE | #F w1 8 [ % (ha) | (A ha)
B K 26,324 60,880 31,142 29,738 622.0 97.9
IRTHEI1TH 349 764 384 380 10.5 72.8
IRTEI2TH 897 1,990 1,022 968 12.6 157.9
IRTHEISTH 1,014 2,270 1,151 1,119 17.0 133.5
IRTHET4TH 560 1,052 518 534 10.4 101.2
¥ET1TH 754 1,642 835 807 14.5 113.2
¥ET2T B 413 1,018 510 508 9.7 104.9
¥ET3TH 930 2,165 1,052 1,113 13.1 165.3
¥ET4AT B 512 1,070 537 533 6.8 157.4
¥ETSTB 500 1,075 570 505 10.3 104.4
¥ET6 T B 565 1,316 656 660 12.6 104.4
pN=a] 4,247 10,146 5212 4,934 118.3 85.8
KFit 2,108 4,942 2,539 2,403 48.7 101.5
B AARET1TH 685 1,625 798 827 10.7 151.9
By BARET2TH 518 1,218 624 594 9.1 133.8
1By BARBET3TH 970 2,296 1,152 1,144 175 131.2
B AARET4TH 721 1,833 939 894 15.6 1175
R=FHIH 105 211 115 96 1.1 191.8
B BET1TH 211 484 253 231 438 100.8
B B#ET2TH 621 1,385 728 657 7.9 175.3
HERs21THE 835 1,894 1,007 887 25.2 75.2
Hes82TH 856 2,055 1,052 1,003 23.6 87.1
HEsa3TH 944 2,219 1,139 1,080 23.9 92.8
BR824 TH 750 1,580 809 771 17.0 92.9
HEsa5TH 1,041 2,215 1,144 1,071 22.6 98.0
Hesa6TH 1,018 2,515 1,305 1,210 19.1 131.7
Hes87THE 1,358 3,308 1,733 1,575 37.2 88.9
Hesa8TH 326 641 296 345 4.7 136.4
J\WEKR1TH 274 728 364 364 12.5 58.2
J\IBK2TH 467 1,190 583 607 19.7 60.4
J\IEK3TH 434 1,003 517 486 24.2 41.4
=YM1THE 477 1,142 596 546 13.9 82.2




BAgs AT BTTFAAQEARN) Fp23% 98 1H{R#A

- - A =] miE AOZEE
BREETTEE | #F w1 8 [ % (ha) | (A ha)
# E 26,330 60,882 31,141 29,741 622.0 97.9
IRTHEI1TH 350 764 384 380 10.5 72.8
IRTEI2TH 904 2,005 1,031 974 12.6 159.1
IRTHEISTH 1,015 2,269 1,150 1,119 17.0 133.5
IRTHET4TH 555 1,039 508 531 10.4 99.9
ET1TH 751 1,644 836 808 14.5 113.4
¥ET2TH 410 1,007 509 498 9.7 103.8
¥EBT3TH 927 2,154 1,046 1,108 13.1 164.4
¥ET4TH 514 1,083 544 539 6.8 159.3
¥EBT5TH 502 1,076 569 507 10.3 104.5
t:EBT6 T H 569 1,323 658 665 12.6 105.0
pN=a] 4,255 10,152 5,211 4,941 118.3 85.8
KFit 2,106 4,935 2,540 2,395 48.7 101.3
B AARET1TH 686 1,619 798 821 10.7 151.3
By BARET2TH 515 1,220 622 598 9.1 134.1
1By BARBET3TH 972 2,300 1,157 1,143 175 131.4
B AARET4TH 721 1,835 939 896 15.6 117.6
R=FHIH 104 211 115 96 1.1 191.8
B BET1TH 215 494 258 236 4.8 102.9
B B#ET2TH 622 1,385 728 657 7.9 175.3
HERs21THE 837 1,897 1,010 887 25.2 75.3
Hes82TH 856 2,058 1,052 1,006 23.6 87.2
HEsa3TH 938 2,208 1,131 1,077 23.9 92.4
BR824 TH 752 1,592 815 777 17.0 93.6
HEsa5TH 1,041 2,223 1,150 1,073 22.6 98.4
Hesa6TH 1,020 2,516 1,306 1,210 19.1 131.7
Hes87THE 1,353 3,294 1,726 1,568 37.2 88.5
Hesa8TH 327 640 296 344 4.7 136.2
J\IBK1TH 272 721 359 362 12.5 57.7
J\IBK2TH 469 1,191 584 607 19.7 60.5
J\IEK3TH 436 1,005 516 489 24.2 415
=YM1THE 476 1,140 594 546 13.9 82.0



BAgs AT BTTFAAQEARN) FR23%F10A 1HEE

- - A =] miE AOZEE
BREETTEE | #F w1 8 [ % (ha) | (A ha)
B K 26,292 60,809 31,106 29,703 622.0 97.8
IRTHEI1TH 348 763 385 378 10.5 72.7
IRTEI2TH 895 1,998 1,030 968 12.6 158.6
IRTHEISTH 1,019 2,282 1,155 1,127 17.0 134.2
IRTHET4TH 560 1,048 516 532 10.4 100.8
¥ET1TH 750 1,643 838 805 14.5 113.3
¥ET2T B 408 1,001 505 496 9.7 103.2
¥ET3TH 927 2,152 1,046 1,106 13.1 164.3
¥ET4AT B 514 1,081 543 538 6.8 159.0
¥ETSTB 499 1,067 567 500 10.3 103.6
¥ET6 T B 566 1,318 654 664 12.6 104.6
KFE 4,253 10,150 5,202 4,948 118.3 85.8
KFit 2,100 4,924 2,532 2,392 48.7 101.1
B AARET1TH 688 1,620 797 823 10.7 151.4
By BARET2TH 512 1,211 617 594 9.1 133.1
1By BARBET3TH 969 2,297 1,156 1,141 175 131.3
B AARET4TH 719 1,827 934 893 15.6 117.1
R=FHIH 105 213 116 97 1.1 193.6
B BET1TH 217 501 261 240 438 104.4
B B#ET2TH 625 1,390 733 657 7.9 175.9
HERs21THE 833 1,894 1,007 887 25.2 75.2
Hes82TH 855 2,054 1,050 1,004 23.6 87.0
HEsa3TH 935 2,201 1,129 1,072 23.9 92.1
EEsB4TH 747 1,581 810 771 17.0 93.0
HEsa5TH 1,042 2,220 1,149 1,071 22.6 98.2
Hesa6TH 1,018 2,511 1,303 1,208 19.1 1315
Hes87THE 1,351 3,288 1,723 1,565 37.2 88.4
Hesa8TH 324 634 293 341 4.7 134.9
J\IBK1TH 273 723 359 364 12.5 57.8
J\IBK2TH 470 1,195 587 608 19.7 60.7
J\IEK3TH 437 1,004 517 487 24.2 415
=YM1THE 477 1,141 596 545 13.9 82.1




